October 16, 2012
SOL-UTIeWS

Dawson College: Calculus III: 201-BZF-05 SO1
Last Name:

First Name:

Student ID:

Quiz 5

Question 1. (10 marks) Find T, N, B, the normal plane and the osculating plane to

x=ZSin(3t.), y=t, z:2cos(’3t) at the point (0,7, —2). :
24)= LGeon(36) , | ~6I(3eY7 | [F@]-= T30 cos 36+ | + 208in*(3€)

T =136 + \
o= 1O ) - L Lbwst3s, | - 6536
"('&'(%‘)‘ m = 437.

Wy T = = L% an (38) | 0 1% cos(30)

\ tal= J("‘*) (15)" 5™ " (%) *(3%

.9 i
- 2= R T
t®) T (E

BN EE!
/-sn(3EY ) © o5 ()7

B (1% \7’ (‘osq'(?ré}

(0,7 ,~2) => £ =T

So, kT
Tlad= L -6, v,0N ’ N = 40,0/‘7
37 — .
' R S F o
3 - e — | ° RS R (OB
ES& D T x N = \_(_? . O =l
o O \
=X (1,06 0
T'.ga,< ) ) > .
= ey v
Dot HAL  PLaE 2o LG, LYY = |
— = =
> (e)+ W ¥¢ =0 =
- 20,e 07 /)(4—@5«!:0

-

OSCOLENNG LA T R
6+ ¢ =0 = d= -0

Ve £ o — G — o)

L1 ‘5‘\’\(%)1 01—’8&5&%



